Multiples of 10

Year 3

Multiplication and Division B (page 1)

Thereare 10  eggs in one box.
There are 20  eggs in two boxes.

There are _ 30  eggs in three boxes.

10, 20 and 30 are all multiples of _10 .

2 X4ones=| 8 |ones

2X4=8

s

2 X 4tens=| 8 |tens

2X40=180

Use <, > or = to complete the comparison.

8 X 4 @ 8% 2X?2

8|8 8| 8 8 | 8

R
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8 X 3 ones = 24 ones 8X3=24
3 X 8 ones = 24 ones 3X8=24

OO000000
OO000000
OCO000000

8 X 3 tens = 24 tens 8 X 30 =240
3 X 8 tens = 24 tens 3 X 80 =240

Which card has the greater value?

Vocabulary
Multiple
tens frame
gattegno chart
place value chart
tens
base ten
represent
multiply
multiplication
multiply
equal to
array
<>=
less than  greater
than  digit
partition
partitioning
flexible partitioning
exchange
product shared
equal groups
divide
remainders
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Fact Family for 6 x 5
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Multiplication and Division B (page 2) 2x4= 8
T o 3x4=12
, . 4x4=16
i = o
- H _ X4 =
s 7x4=28
e . 8x4=32
. 31x3=093 3x3= 9 9x4=36 :
HE Tens Ones 2 1 4x3=12 10 x 4 = 40 8times table
FEF Sanaaanna B 2 T3 a >Xx3=15 11x4=44 1x8= 8
i e Emanansannl gig:%i 12 x 4 = 48 I%x8 =16
_ EEEEEEErEET = 8x3=24 gigfgg
_3 tens multiplied by _3 is equal to 90 9x3=27 58 _ 20
_1 one multiplied by 3 isequalto_3_ T 10x 3 =30 6x8=48
31 multiplied by 3 isequal to 93 ey w 11x3=33 7% 8 = 56
12x3 =36 8x 8 =64
EFFFFFrrees @ 9x8=72
e
= /8 Xo=
26x3=_12 12 x8=96
2tens X3=_6_tens E’ < Division with exchange >
ind
6 ones X 3 = 18 ones e | @RS < Remainders >
26 x3=60 + 18 = 78 s | wee Tens 15 73 + 3 = 24 remainder 1 o
26 X3 =78 D | eme Tty EEHBE 3|4 5
_ [Essssssann] aee
e iy s 00 0000




Measuring

Length

Year 3
Length and Perimeter

< Equivalent lengths >

Equivalent lengths

5mm 5cm
Equal lengths
= 4dm=
1m =100 cm 400 cm lcm =10 mm 4cm= 40 mm
100 cm | 100 100 cm | 100 cm
&m _ 10 mm 10 mm |10 mm | 10 mm
200cm= 2m 150cm—11
2 20mm= 2cm
10mm = 1cm 100 cm| 100 cm -
100 cm
-m 10 mm |10 mm

Perimeter is the total length around the edge

of a 2-D shape.

The perimeter
of the rectangle
is 22 cm.
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The lineis 75 mm long.

What is the length of the bar?

I The bar is 8 cm long.
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8cm =80 mm

i The bar is 80 mm long.
I

What is the perimeter of the rectangle?
2cm

Opposite sides of a 6 cm

rectangle are equal.

{The perimeter is 16 cm.]

6cm +2cm +6cm +2cm =16cm

What is the perimeter of the square?

6m

Thelineis > cmand_© mm long.
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There are 10 millimetres jn one centimetre,

6mx4=24m

Do you need to measure

There are 100 centimetres in one

metre .

all of the sides?

em+b6m+6m+6m=24m

Vocabulary
Metres m
centimetres cm
milimetres mm
length
long
height
measurement
longer shorter
unit of measure
compare
add subtract
perimeter sides
width length
equivalent




Year 3
Fractions A (page 1)

Vocabulary
Equal parts
denominator numerator
whole

1.
3 is shaded

The shape is split
into_3 equal parts.

The denominatoris 3

The fraction that is
shaded is 1

3

% is shaded

The shape is split
into_5 equal parts.

The denominatoris 5

The fraction that is
shaded is i

5

unit-fraction

non-unit-fraction

is equal to |

greater smaller

S

W=
~l—=
vl

What do you notice?

When the numerators are the same,
the greater the denominator, the _smaller the
fraction.

parts compare order

scale  number line

interval equivalent
bar model

What do you notice?

Numerator
How many parts\

AOGOO

What fraction of the shape is shaded?

2
R 3 is shaded

When the denominators are the same,
the_greater the numerator, the greater the
fraction.

fractions

There are 3 equal parts.

So the denominatoris 3

— of the shapes are triangles.

4/

_ 2 of the equal parts are shaded.

The fraction that is shaded is

5

Denominator
How many equal
parts are there?

are we |ooking at?/,

So the numeratoris 2

6

The fraction that is shaded is

vw’almslcy C.E. Primary School
Where goiting beticr never s8o i




Year 3
Fractions A (page 2)

When the numerator and the denominator are
the same, the fraction is equal to one whole.

Fractions on
a Number

Line

SEXYY

The number line has been splitinto _4  equal parts.

1 2 3
0 g 7 g 1

I | | | | |
1,1 ,1_3 3 I | | | | |
o - —_= = Z =1 whole
N I | S e |
5 5 5 5 Each interval is worth i
1 1 1 + 1_2 2_ 1 whole Equivalent Fractions on
2 2 2 2 2 2 a Number Line
The scale is splitinto 5 equal parts. 0 % 1
ST I 1 A I SO S O ' : 2
Alala n . - I
43|33/ 4 4 4 4 4 4 The denominatoris _5 1 2 3 ?
T R R B
F f f i
Mo has a box of crayons. %
Mo, Eva and Whitney each pour some juice into a litre jug.
Th Il bl d 1.2 2_14
e crayons are all blue or red. 5=17 5=1
3 ﬂ 117
@of the crayons are blue. 4 » 0 1 2 1
4 1 litre ) | 3 3 |
What fraction of the crayons are red? 7 3 litre ! ! 3
1 3
Whole box 1 2 3 4 5 6 7 8 |
0 s 5 3 s 5 5 5 3 1
—
X 9
E]
\ ) Whitney 1.3 2_6 3_9
é What fraction of a litre of juice is in each jug? 3 9 3 9 39
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] < Measure mass in grams >
Using scales Year 3 (g) and kilograms (kg) VocabUIary
- ‘ Mass
Mass and Capacity (page 1) A grams g
kilograms kg
0O 10 20 30 40 50 60 70 80 90 100 _ equal parts
number line
The start of the number lineis_ 0 mt_erval
equivalent
The end of the number line is 100 heavier
" N ‘ lighter
There are 10 intervals. What is the mass o
2 2 kgand 100 g 4 kgand _800¢g add subtract
the football* total
The number line is counting up in _10 s, difference
The mass of the 100g x 10 =1,000 ¢ tf/
; capaci
i — football is 300 g.
100 + 10 = 10 g o288 volume
w009 W00 gV} mililitres ml
What number is the arrow pointing to? - 1003!1003!1005 - :
100 ' litres |
g9 100 g"IOO 9'100 ] B
' I interval
A4+ scale
Og 100g 200g 300g 400g 500g 600g 700g 800g 900g 1,000g . . artition
0 25 50 ) 100 1,000 g is equivalent to 1 kg P
The start of the number line is _0 What is the mass of Addingand
subtractingmass
The end of the number line is 100 the box? <
Thereare 4 intervals. 30g What is total mass of the tractor and the parcel?
I One blue box is _heavier than one yellow box.
The number line is counting up in_25 s, The start point is 0 g.
The end point is 50 g.
100 - 4 = 25

There are 5 intervals.

The scale is going up in 10s.

3kgis_lighter than 6 kg.
50+5=10

2kg+1kg=3kg 600g+300g=900g

v\'{almslcy C.E. Primary School
Where gotting beticr never stops

3 kg +900g =3 kgand900g
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Year 3
Mass and Capacity (page 2)

Volume and >
Capacity
Equipment we use to measure volume and
capacity.

pacity S—
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Measuring Volume >
and Capacity

__
F

g
1

What is the volume of water
in the jug? 400 ml

The scale has been split into
10 equal parts, so each

interval represents 100 ml.

E

1,000 ml

We measure liquid in litres and millilitres.

Milli means thousandth.

There are 1,000 millimetres in 1 metre.

\There are 1,000 millilitres in 1 litre.

1,000 ml = 1 litre

I T
Oml 100 200 300

T 1 T T T
400 500ml 600 700 800 900 1litre

I

Which jug has the greatest capacity?
Which jug has the greatest volume of water?

2 litres

3 litres

s

2 litres

1 litre

1 litre

/N

—

[

1 litre 200 ml < 1 litre 400 ml

Add and Subtract Volume
and Capacity

What is the volume of water in
this jug? 1 litre and 300 m|

1,000 - 10 =100

1 litre = 1,000 ml

vw‘\lmslcy C.E. Primary School
Where gotting beticr never stops

1litre 100 200 300

T T 1 y T
400 500 600 700 800 900 2 litres

°

;

500 mL

N—
: ;
AN

300 ml

E

The water from jug A is poured into jug B.
How much water will be in jug B?

300 + 600 = 900 ml|

600 ml

E

900 ml




